

Dokter Nover John

Assalamu'alaikum

15/04/2020/016

Elect - ELCA

Q2

i. $3e^{-4t} - 6e^{4t}$

Recall:

$$e^{at} = \frac{1}{s-a}$$

$$\therefore \mathcal{L}[3e^{-4t}] - \mathcal{L}[6e^{4t}]$$

$$= \frac{3}{s+4} - \frac{6}{s-4} = \frac{-2s + 32}{(s+4)(s-4)}$$

ii. $f(s) = 2 \sin 4t + 3 \cos 4t$

$$\sin a = \frac{a}{s^2+a^2} \quad \cos a = \frac{s}{s^2+a^2}$$

$$= \mathcal{L}[2 \sin 4t] + \mathcal{L}[3 \cos 4t]$$

$$f(s) = \frac{8}{s^2+16} + \frac{3s}{s^2+16}$$

$$= \frac{8+3s}{(s^2+16)}$$

iii. $f(s) = t^2 + 2t^2 - 6 + 4$

$$\mathcal{L}[f(s)] = \mathcal{L}[t^2] + \mathcal{L}[2t^2] + \mathcal{L}[-6] + \mathcal{L}[4]$$

$$= \frac{2!}{s^3} + 2 \cdot \frac{2!}{s^3} - \frac{6}{s} + \frac{4}{s}$$

$$f(s) = \frac{6}{s^3} + \frac{4}{s^3} - \frac{6}{s} + \frac{4}{s}$$

iv. $f(s) = e^{-2t} \cos 5t$

$$\mathcal{L}[\cos 5t] = \frac{s}{s^2+25}$$

$$\mathcal{L}[e^{-2t} \cos 5t] = \frac{(s+2)}{(s+2)^2 + 25}$$

$$v. f(s) = t \sin 3t.$$

$$\hookrightarrow \mathcal{L}[\sin 3t] = \frac{3}{s^2 + 9}$$

$$\therefore \mathcal{L}[t \sin 3t] = -\frac{d}{ds} \left(\frac{3}{s^2 + 9} \right)$$

$$= \frac{6s}{(s^2 + 9)^2} = \frac{6s}{(s^2 + 9)^2}$$

$$vi. f(s) = \frac{e^{-t} - e^{-2t}}{t}$$

$$\lim_{t \rightarrow 0} \left[\frac{e^{-t(0)} - e^{-2(0)}}{0} \right] = \frac{1-1}{0} = \frac{0}{0} \rightarrow \text{undefinert}$$

Using h' hopital's rule.

$$\lim_{t \rightarrow 0} \left[\frac{-e^{-t} + 2e^{-2t}}{1} \right] = \frac{-1 + 2}{1} = 1 \downarrow$$

$$\mathcal{L}[\frac{e^{-t} - e^{-2t}}{t}] = \frac{1}{s+1} - \frac{1}{s+2}$$

$$\mathcal{L}[\frac{e^{-t} - e^{-2t}}{t}] = \int_{s=0}^{\infty} \frac{1}{s+1} - \frac{1}{s+2} ds$$

$$vii. f(s) =$$

$$viii. f(s) =$$

$$ix. f(s) = t^2$$

$$x. f(s) = e^{-t}$$

Q.

$$i. P(x) = \frac{x-5}{(x-3)(x-4)} = \frac{A}{x-3} + \frac{B}{x-4}$$

$$A \Big|_{x=3} = \frac{3-5}{(3-4)} = \frac{-2}{-1} = 2$$

$$B \Big|_{x=4} = \frac{4-5}{4-3} = \frac{-1}{1} = -1$$

$$\therefore \frac{x-5}{(x-3)(x-4)} = \frac{2}{x-3} + \frac{-1}{x-4}$$

$$P(x) = 2e^{3x} + e^{-4x}$$

$$ii. P(x) = \frac{2x-6}{(x-2)(x-4)} = \frac{A}{x-2} + \frac{B}{x-4}$$

$$A \Big|_{x=2} = \frac{2(2)-6}{(2-4)} = \frac{4-6}{-2} = \frac{-2}{-2} = 1$$

$$B \Big|_{x=4} = \frac{2(4)-6}{4-2} = \frac{8-6}{2} = \frac{2}{2} = 1$$

$$\therefore \frac{2x-6}{(x-2)(x-4)} = \frac{1}{x-2} + \frac{1}{x-4}$$
$$P(x) = e^{2x} + e^{-4x}$$

$$iii. P(x) = \frac{3x+8}{(x-5)(x-6)} = \frac{A}{x-5} + \frac{B}{x-6}$$

$$A \Big|_{x=5} = \frac{3(5)+8}{5-6} = \frac{15+8}{-1} = \frac{23}{-1} = -23$$

$$vii - f(t) = e^{4t} \cos 2t$$

$$\mathcal{L}[\cos 2t] = \frac{s}{s^2 + 4}$$

$$\mathcal{L}[e^{4t} \cos 2t] = \frac{(s-4)}{(s-4)^2 + 4}$$

$$viii - f(t) = \sin 2t$$

$$\mathcal{L}[\sin 2t] = \frac{2}{s^2 + 4}$$

$$\mathcal{L}[t \sin 2t] = -\frac{2}{s^2} \left(\frac{2}{s^2 + 4} \right)$$

$$= \frac{-4}{(s^2 + 4)^2} = \frac{-4s}{(s^2 + 4)^2}$$

$$ix - f(t) = t^2 + 4t^2 + 5$$

$$\mathcal{L}[f(t)] = \mathcal{L}[t^2] + \mathcal{L}[4t^2] + \mathcal{L}[5]$$

$$= \frac{2!}{s^3} + 4 \cdot \frac{2!}{s^3} + \frac{5}{s}$$

$$= \frac{2}{s^3} + \frac{8}{s^3} + \frac{5}{s}$$

$$= \frac{10}{s^3} + \frac{5}{s}$$

$$x - f(t) = e^{3t}(t^2 + 4)$$

$$\mathcal{L}[t^2 + 4] = \frac{2!}{s^3} + \frac{4}{s} = \frac{2}{s^3} + \frac{4}{s}$$

$$\mathcal{L}[e^{3t}(t^2 + 4)] = \frac{2}{(s-3)^3} + \frac{4}{(s-3)}$$

$$\text{xi. } f(s) = t^2 \cos t$$

$$\cos t = \frac{s}{s^2+1}$$

$$\mathcal{L}[t^2 \cos t] = (-1)^2 \frac{d^2}{ds^2} \left(\frac{(s^2+1) - 2s^2}{(s^2+1)^2} \right)$$

$$= \frac{(s^2+1)^2 * (2s-4s) - (s^2+1) * 2s}{(s^2+1)^4}$$

$$\text{ii. } f(s) = \frac{2s}{(s-2)(s+4)}$$

$$A \Big|_{s=2} =$$

$$B \Big|_{s=-4} =$$

$$\frac{s-5}{(s-2)(s+4)}$$

$$f(s) = \frac{2s}{(s-2)(s+4)}$$

$$\text{iii. } f(s) = \frac{2s-6}{(s-2)(s+4)}$$

$$A \Big|_{s=2} = \frac{2(2)-6}{(2-2)(2+4)}$$

$$B \Big|_{s=-4} = \frac{2(-4)-6}{(-4-2)(-4+4)}$$

$$\text{iv. } f(s) = \frac{3s-6}{(s-2)(s+4)}$$

$$f(s) = \frac{3s-6}{(s-2)(s+4)}$$

$$B \Big|_{s=4} = \frac{5(s)-8}{4} = \frac{20-8}{4} = \frac{12}{4} = 3$$

$$= \mathcal{L}^{-1} \left\{ \frac{2}{s} + \frac{3}{s-4} \right\}$$

$$f(s) = 2 + 3e^{4t}$$

$$11. f(s) = \frac{s^2 - 3s - 4}{(s-3)(s-1)^2} = \frac{A}{s-3} + \frac{B}{s-1} + \frac{C}{(s-1)^2}$$

$$A \Big|_{s=3} = \frac{3^2 - 3(3) - 4}{(3-1)^2}$$

$$= \frac{9 - 9 - 4}{(2)^2} = \frac{-4}{4} = -1$$

$$B \Big|_{s=1} = \frac{1^2 - 3(1) - 4}{(1-3)}$$

$$= \frac{1 - 3 - 4}{-2} = \frac{-6}{-2} = 3$$

$$C \Big|_{s=1} = \frac{d}{ds} \left(\frac{s^2 - 3s - 4}{(s-3)} \right) \Big|_{s=1}$$

$$= \frac{d}{ds} \left(\frac{s^2 - 3s - 4}{s-3} \right)$$

$$= \frac{(s-3) \cdot (2s-3) - (s^2-3s-4) \cdot 1}{(s-3)^2} \Big|_{s=1}$$

$$= \frac{(1-3)(2(1)-3) - (1^2-3(1)-4)}{(1-3)^2}$$

$$= \frac{-2(-1) - 6}{4} = \frac{2-6}{4} = \frac{-4}{4} = -1$$

$$f(s) = \frac{-1}{s-3} + \frac{3}{(s-1)} + \frac{-1}{s-1}$$

$$P(s) = -e^{st} + 3te^{st} - e^{st}$$

$$V \cdot P(s) = \frac{s-5}{s^2 + 4s + 20}$$

$$s^2 + 4s + 20 = 0$$

$$s^2 + 4s$$

$$-4 \pm \sqrt{16 - 4(20)}$$

$$\frac{-4 \pm \sqrt{16 - 80}}{2} = \frac{-4 \pm \sqrt{64}}{2}$$

$$= \frac{-4 \pm 8}{2}$$

$$= -2 \pm 4j$$

$$(s+2) + 4j$$

$$(s+2) - 4j$$

$$\frac{s-5}{s^2 + 4s + 20} = \frac{A}{s^2 + 4s + 20}$$

$$A(s^2 + 4s + 20) = (s-5)(s^2 + 4s + 20)$$

Q1

$$(1-x^2) \frac{dy}{dx} - 2xy = 2y^2$$

$$(1-x^2) y'' - 2xy' = 2y^2$$

$$= 2y^{n+2} (1-x^2) - 2xy^{n+1} - n(n-1)y^n - 2xy^{n+1} - 2ny^{n+1} - 2ny^n + 2y^n$$

Equating to 0

$$y^{n+2} (1-x^2) - 2xy^{n+1} - 2ny^{n+1} - n(n-1)y^n - 2xy^{n+1} - 2ny^{n+1} + 2y^n = 0$$

$$y^{n+2} (1-x^2) - 2xy^{n+1} - 2ny^{n+1} - n(n-1)y^n = 0$$

$$y^{n+2} (1-x^2) - 2xy^{n+1} (1+n) - n(n-1)y^n = 0$$

$$y^{n+2} (1-x^2) - 2xy^{n+1} (n+1) - n(n-1)y^n = 0$$

$$= y^{n+2} (1-x^2) - 2xy^{n+1} (n+1) - n(n-1)y^n = 0$$

Let $x=0$

$$y^{n+2} - 2xy^{n+1} - n(n+1)y^n = 0$$

$$y^{n+2} = 2xy^{n+1} + n(n+1)y^n$$

When $n=1, 2, 3, 4, \dots$

$n=1$

$$y^3 = 2y^2 + (1+1+1)y$$

$$= 2y^2 + 3y$$